
44(a)d Exam3
150-

aug 88 9

med 92 135-

120

105-ex
3

V f = x(y- 2)

Xt=0 ,%t
↓p +(x , n) = y(5 -3) = Y

fl-5 , 5)
: - 5-

frs
,
5 I 5z

bottom f(x ,x)
= y(x -y) =

-

ex3- 4x



F = 3x- 7 = 0 -x= E

#
H-)↳

#5
. (439-

=

#
fen

↳



I
.

C
,

: r(+ ) = (4*Y +,3

-
O
0 ? -

r'Ct) = ( -4 ,
3)

(rcy) = 5-1

(x +y ds = )'(4+ +(+
C I

5(4+ -2- + 3 +3)). =
5(4- 213) = 25

2, r(t) = <0 ,
+) 02t 23

riCH= (011)

Irl = 1
El

S
O

0 + th - (d + = - = 9

Let me :
=

(M ,MP)



LETLI: If F = Of is conservative
and Ci r(t) : aft = b

The Feder : S
,

Maxt Nat PdS
C

Il

f(r(b)) - f(r(a))

( = 0 i (closed)

2915.7 What if ) closed,

Fret conservative

El S
,(xidx + 2x y

-

N

Y Y=3 most ,sin

U = t = Lit



((Y+34)+   =

jost -Sint) +Get a
(S
37

(antcost - 27 sin't + 8 cost onz W
O Fit
↓ Ilz #costH

-Esint-(t-↑
4

=

0 -(i) +()
=

-27 + + 184 = - 9π,

Eway



Green's Theorem Let C be-
a counterclockwise simple

closed curve bounding requen

& in M2. Then

(Max + Na = ()(Nx-Ma)dA
C R

E : (i) de + zx
N

-x(l()(2 -3)dA =

RNxMy

- J)Ida = -Area of⑭
R

=

-94



E
)(ty3) dy + (siny-etyN

II

()(x-My)(A = () - e
*
-3324A

R S RS
2"-e*

-342dxdyS S
oh

x=y

- e
*
- 3x40 =

2

S - e - 12y - (1)-
g

Spe-in da =



(l - e) y - 4y31?
= z(l - e") -32
I

- Ze - 30

E circle 5
radiv

Clockwise

S(y+y 2)dx
-
ydy =

C M

- ((x+y)dx -Y
Cu

but Canter↑ C = clock wise

- (0- 2ydA I



& LydA =dydx

/palars
-dude(

*

)
*

Zusind ~

O O

jo] zo2 do da

·

Er3/5
T/2

O

sitS
- cost
0 -( -2)

= 25



Bak
Area of R

= (21dA =

N

to -dx + xd
This is the
basis fun

C· physicaldevice
used by

surveyors to find area
of

a
Coti

315 . 5 Surface intervals

hell : Jefdsf scolor
Clive interval)



restor②)
,

F . dr F
field

(ScFoTds Nux)

It s is a surface, There two

anclagous integrals
:

Flux
verter

Scalg - field
① () fdSQ))Find

S ↑
f = re unit normal
-

to density
#mas

T YiS-
~avametic surfaces in IP



A parametric surface in I

is given by a rector
valued function

v(u ,v) = <y(u ,r) , u(us) ,
z(iv)

and a regim Rin ur plane

Ideal
v

#t
Ext

(a) ru) =Cui 2n+3)Y

+
z = 2x+34



↳

·
r(u

,
v) = (3 cosu , 3 sinniv)

Y y z

y =9

(ut=,im16-u2 - v2)



·-⑭cylindrical
16-42)

② r(u , y) = Incosrusinnt

#


